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E7} 125.6 cm<l Yo 2|29 Aol & cmU7}?
CR cm

>
> HED 40cm

125.6 + 3.14 = 40( cm)




9] AF-g FohA 2.

L

>
[> ®EH: 50.24cm

(45)=(A&)x3.14
16 x 3.14 = 50.24( cm)
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250l 24cmel 9] HeolE T3 2.
=§ 2

>
> HE T 452.16 cm?

W2 8)= 24 + 2 = 12(cm)
o] Wol)=("tAF)x (FHAF)x3.14
12 x 12 % 3.14 = 452.16( cm?)
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HF7F40.82cm?] o] sy o] €O AF2 H emYY7?

> E cm
[> HEF: 13cm

40.82 = 3.14 = 13(cm)
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>
> =g 1884cm

(25)=(5t2 T )x2 x 3.14
=3%x2x3.14 = 18.84(cm)




LEH AMAE A =3 EY 47.1emE
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=-47 lem--"""

47.1 +3.14 = 15(cm)
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11. ¥=F7F56.52cmsl €Ol Hol= 2 em? JY7k?
> £ cm?

> HMEHD 254.34cm?

6.52 + 3.14 = 18( cm)
) =9x9x3.14 = 254.34( cm?)
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252 dolE Acmzt 5HH
AXAX3.14 =785
AXA="785=+3.14

AXA=25

A =5(cm)

(A59] Zol)=5x2=10(cm)
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- --18cm- -~
@ 30.14cm @56.520111 3@ 62.8cm
@ 68.16cm ® 78.5cm

1
:(18x2x3.14)x71x2

= 56.52(cm)
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4cm” 4dem”
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> HEehl 32cm?
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4cm” 4em” ~-8cm- -

shglo] yolot Azl A e Yol et k.
shele] oli #Alztg o] ¥l o] oot gonz, A

wole AAE S oo Zayth
4G 712 E em, A2E 4cm 0| B2
Hol= 8x 4 = 32(cm?) dY .
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A9 E&71 37.68cm 2 Y 719} 56.52cm 1 ¥ Yot 9l&5 U T

7ht 9 1] ool 25 AL,
> Iél' . CIIl2

> HEHD 141.3cm?

2

A 7te] Htx &

(FF2]5)x2 x 3.14 = 37.68
(FH2] 5 )= 37.68 + 6.28 = 6(cm)
A o] vt2 &

(T2 Z)x2 x 3.14 = 56.52
(HrA]5)= 56.52 + 6.28 = 9( cm)
(¢ 1] wol)-(H 71 Hel)
=(9%x9x%x3.14) - (6 x 6 x 3.14)
= 254.34 — 113.04

= 141.3(cm?)




